stofzt.

<]

test.....

[e=]
=

-3.5, 25

10,

Agko]l 2 58 A2 = v

10

il
RO

A

td 10, -3.5, - ]

o

H 4

=]

= dhigho] 2 27

=1

4 3, 0, 2, 10, 3.5, 2.5 9]

°

.?_

o

=

-3.5
2.5

ZYzro] Adigk
3, 2.5, +2, 0°Jtt.




theoll A ABighe] 7V 2 48 o, 7P A2 5 b= S W, axb 9 27
3 1 5
_3’ ) -5 0’ n
+ 2 2 + 4

> W

_ 3 5
Aigtol & SR UGS 3, 45, 43, -2

1 oo,

watA g = -3, b= 0°]E& F 9] FL oo},




o}

mlo

s
T

Z]
A

A

AA A P 7 Hetl = &7

N




ol

e eREap)

)

<t

A




e g vre|7 RS QBT e W2 ol stFol 3 uHE =11, HH| o2 Hel= stFol 2 vHE
ey W2k 10 o Sof dee ¢ fIAE HEokitd, 10 € F W2 92 25 HEo| A
Satolel,

> E: 2

> ®et: 49

109 5 9229 55 x 2 FH, HA] 22 92 (10-x) dolot

3xx+(-2)x(10-x) =0

5x-20=0

x=4

g2 g2 4 dojrh




